ENP100 - Prosess og produksjon

Aving 9 - Lasningsforslag

Oppgave 1:
& AH— B & e
7 Oy 3 A = u-A 5
P ' 3’\%'”'3
S 2 ;
(‘i—’m yw&iwﬁ g?li":Z-ET'/' 81‘:—)
§'a)£MJ-\1»L- Ui
- Ao L, 8% _ do .7
| /UJ-TM "‘;T_E‘Z'PD D BT
e e
Kook
2 . R
‘ 3 (S?M_) (W/A’J m ZKT
SPVV\U"' R 3"{’ = S, & B q) A—Z
2T
o Adp oh _ E R
S Jan —Z(_[l = I F/ﬂ'l
/3(2
(1?‘1/4" P 0(L pﬁ K-ZT@T'W\I P ¢ )
T o=
b) (M{LT‘, q(jm L=o LZL/‘ Aownil, P |
SRR AT
Lf /(2 i /}? /.
?L:—“_*__f‘i : | =~ ":_1
JA ko 2RT- v’ p s e -2RT ol ?)




rd P> f)

? K 2 I 5
£ T = ﬁ‘(?"rt) . (P,'Fl)'/’ﬁ
i = = =
2 k- 2RT- 2k 2rRTE.
w [ vLu&L/ ﬁj WLJ‘;_:
fé &J‘Bk‘?"lm f&& szuﬁf?:
poBe Recran e (wen)
e /V\ar:B/ﬂ“ijW = 0.63'-7\93%
y I~ :
B34y - J
VL= inBos 0485 = = S LW
oy ~ 27 44 b L.
vy { : e 3% c 29045k
K ”’“ﬁ‘”‘”["' K T8 Fod i SRR M =TI

; i
2

‘ [(!3?'/0Y)2— (éfs,,o‘")aj c(0.46 m')

200068 L - 094 . 4SS . 280,45 - §H0ovn

b4

' v\ Y :
) Eahds ‘Wm p (;%{) a M?/,’%
S N Y
D= ad
) }’50-&44 2
- g T i é”— = -E_

S?.

2700 9 -?i

qw,\’




7= 15% b = 1326 kPu
P = EF b = §<ou “
g . o J = )
(bl "som o) . . §37
({370 = g<ou ). ous

. F IS TN
e z LAEE 0 - T ) :
iﬁ loul.325 ki L3 - SHoors - 286 9€-0-94

&

SM? 7 ;M?_
« I Bib 42 /& « JE.RE =8 " 5

d) ME heverdons o a Do
o

6 ¢ 3 ' ;
[8.%2- (0 ii: ) ‘(‘ZS’%M_— . o.(;3<2?f'0“ o
W bk, §E4m A
e (8P !
(7o
7.4 — [+0.3
x — 0.0l = [ #,

167 ¢




Oppgave 2:

a) pwf (after the lift gas is introduced) = 2900 psia; the necessary casing pressure at well depth will be
100 psi higher; pc,v = 3000 psia

b) Surface casing pressure given by equation (17.8) assumes only hydrostatic pressure difference due to
the weight of the gas itself.
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(The approximation leading up to equation (17.10) is obsolete, since now we do have calculators ...)
¢) In simplified analysis like this one usually ignore topside pressure drops in piping:
The compressor should compress the lift gas from pwh = 1450 psia, up to pc,s = 2350 psia;

Using the equations from chp. 11, performing the calculations in metric units should be more convenient,
as long as we need not worry about the pressure units:
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Then convert to US Field:
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Using equation (17.24) directly will give the same result, given some round-off errors:
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